Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-IV « EXAMINATION - WINTER - 2016

Subject Code: 3346003 Date: 17- 11-2016
Subject Name: Railway Engineering
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2HIll SlEURL Ulclall scllol WL

1.  Define railway gauge and List out various types of railway gauges with
dimensions.

U A Aol cauuAl AW Al QA Yslrell e Aol uRHL Us

el a0,

Write the functions of rails.

el il cul.

Write any four advantages of uniformity of gauge.

Aogell VS Ucllotl 518 UBL UR SLAEL AL

Draw the line sketch of semaphore signal.

AHSR Rostete] u A €RL

What is the adzing of sleepers?

wlluRq] Asoflol AMed 9?

Discuss the necessity of geometric design of track.

2sell Qs wWAUatoll w3R2Ud U AUl 52

State the functions of points and crossing.

Wez ™ Aal sl{lotetl st esaul.

Draw the figure of gathering lines.

AuloL ctgetoll vugld €.

Define the terms: (1) Flange way clearance (2) Throw of the switch
UEL AUl (1) $A A URAR AUclloll ol (R) Ul wg wu
Define routine maintenance of railway track.

e 2soll (AP stocell unrestal.

Q.2 Draw the cross section of permanent way as per IRS.
Y2 () UHoled Ao LS BEa JBURAUY YHIQ ERL

OR
(@  Write the difference between Bull Headed rail and Flat Footed rail.

() GE Mol Ael YULe ualalal uel dAell Ae AUl
(b)  What are the effects of creep?
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OR
Explain the causes of creep in brief.

slUotl $160 S5HL ULl
What are the requirements of station yard?
Ralot Aléall w3 58 B?

OR
Discuss about types of marshalling yard.

Helcllot audeatl ystAell 2 52,
Write the basic requirements of an ideal alignment.
AL Alget E13loll Yaod wRaA AWl

OR
Explain any two factors involved in selection of good alignment.

AR At E13lo{l urieol HiZall 818 URl A UR O UHosA.

What are the facilities required at railway station?
A Rt UR 58 YAulloll %32 B?

OR
Describe the working of the interlocking.

8o AS[0Lo] s121 QU
Explain any four surface defects with their remedial measures.
AWl WR Geetaldl 818wl AR wWiHlRAl Aol [(Acrel AA AHestAl.

OR
Write advantages and disadvantages of concrete sleepers.

sl eluRetl slAEl Wal ARLAEL AV,
Give the specifications of track ballast material.

25 Aol FUEL$00 AL
OR

Define the following terms:
(1) Ruling gradient  (2) Pusher gradient  (3) Momentum gradient  (4)
Gradient at station yards

o{lAetl UEL AHLA.

(1) 3cdlol @l (R) YAR @LO (3) AL BLAL (¥) 2et LS Ul Bl
What is grade compensation on curves? Give its limit for Indian railway curve.
ds U s 5LUAet 9 B? elRcla e as MR Aoll Halel WL

OR
Explain super elevation on curve and describe objects of providing super
elevation.

ds URe]l YU AlAAget uHAA Al YU A(AAet Y3 Ulsclell
3l sruAl.
Discuss resistance due to friction that a locomotive in motion has to overcome.

AUAHL UAA ARVt U UMRLeAl 5181 ALAL AHAA DA A 52,

OR
Discuss resistance due to gradient that a locomotive in motion has to overcome.
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) OUAHL AAA WeBat UR alatell 51RAL ALl AHRAW( Al 53, 03

(b)  Explain acute angle crossing. 04
()l vau sillot umendl. 0¥
OR
(b)  Explain scissors crossing. 04
() sldR sl{lot AMesaAl. 0¥

(c) Draw the neat sketch of simple left hand turnout. Explain its various partsand 07
the working principle of the turnout.

(5) AL aHddl [Ratetoll a9 Bgdl €L Aot (AQU ol AHAA 09
U [Aototoll 1] Rl uMsAl.

Q.5 (@)  Write a short note on “Conning of Wheel”. 04
YU () “Usloll 2155200 UR gsellul Aull, 0¥
(b)  Give the merits and demerits of timber sleepers. 04

(W) cAssl EflURell slaAEL vat AFLAEL AV 0¥

(c)  Describe the causes for maintenance of railway track. 03

(5) 2w 2s0ll snaRlletl 5100 weuA. 03

(d)  Write the objectives of signaling? 03

(s)  Rostellotetl 3l cvll. 03
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